MAIN INDEX

2. Algebraic Simplification
1. The expanded form ésf (a+5)2a-3)is
A, Z2a%-Ta+2 B.22?+2a-15 C 2a®+7a-15 D. 2a?-2a+15

Ans: C

2. The expanded form of (3a + 5)% is
A. 3a?+15a+25 B. 9a*+25 C. 9a*+15a+25 D. 9a?+30a+25

Ans:D

3. The expanded form of {4p - 3)*is
A 16p*-24p+9 B, 16p2+9 C. 16p*-9 D. 16p*+12p+9

Ans: A

4, The expanded form of (4m - D(d4m + 7} is

A. 16m?-56m+49 B. 16m2+356m-49 C. 16m2-49 D. 16m? +49

© Ans: C

5. The expression x? + mx + 25 is the expansion of a perfect square if m has the value
A5 B. 10 C. 2 D. -5

Ans: B

6. The expression 4y? - ay + 49 is the expansion of a perfect square if a has the value
A 28 B. 14 C. 4 B.7

Ans: A

7. The expansion of m?+ pm + 9n? is the expansion of a perfect square if p represents

A3 B.6 C. in

Ans: D

D. 6n

8. The expression (a +2)(a - 2)(a + 1) is equivalent to

A a*ta’-da-4 B. a*-4a*+4a-4 C a*+2atdatd

D. 2 +4a-4

Ans: A

9. The expression (3a+ 1){1 - 3a)(I - a} is equivalent to

A. 9a*+ 15a%-5a -1 B. 9a%-1 9a’+a

D. 9a?+3a2-Ta-1

Ans: C

3 + 2
(2x—5)(x-3) (x-3(x-1)

5x—15
x--3

c 3
(2x—5)(x—3(x-3)

simplifies to

Tx—13

B.
2x-5x=N(x-1)

Sx-11

D. .
(25— (x—1)

Ans:B
4 N
11, + simplifies to
(B3x-2)(x+35) G+x0(x+T)
10x+424 6
T Bx- D+ 5)(x+T) Xx+5
6 6x+30

¢ Gx—2(x+5)x+7)

C, 1-9a%-a+9a*

D. (Bx—2)(x+5P(x+7)




2 3 -
T 24x (x+2)(x43)

simplifies to

A -1 3x—5
L2+ +FDE+D T (x+2)(x+3)
c -1 3x-5
T {(x+D) T (x+2)(x+3)

Ans; D

5
13, .
By+Dy+h)  (y+D(y+8)

simplifies to

26—y 3

. B.
Gy+Ty+D{y+8) ytl

C 3 D Iy+3
D @y+Ny+D (8 By+ Dy D(y+8)

Ans: A

14. Simplify 4m?n - 3min + 2m?n - 6mn

Ans: 6m?®n - 9mn

15. Simplify 3p2+ 5pq - 3gp - 11p?

Ans; -8p2+2pgq

16. Simplify 32 - 5m-8m - 15

Ans: 17-13m

17. Write down the simplest expression for:
3+ T7ht-4t+2th -3¢2-1

Ans: 2+ 0ht - 4 - 362

Ry o

18,

{dp-3)em

2ptS)em

Ans: () (12p + 4)em; (b) 40 cm

19,

(p+)c
[B-pyem

G -Bom

Ans: (2) (p2+3p+ Nem; (b) 17ecm

20.

(hmrjem (Gm+2n}em

(B3n-m)em

Ans: (@) (9m + 4nyem; (b) 22cm

21. Expand 3(2a +7b - 5¢)

Ans: 68 +21b - I5¢

22. Bxpand 2a(3a + b - )

Ans: 6a2+10ab - 2a

23. Expand 8(p? - 3p - 2q)

Ans: 8p?- 24p - 16q

() Write an expression for the
perimeter of the rectangle.

(b} Find the value of the perimeter if p
has the value of 3.

(a) Write an expression for the
perimeter of the triangle.

{b) What is the value of the perimeter
if p has the value of 2.

(2} Write an expression for the
perimeter of the triangle.

(b) What is the value of the perimeter
ifn=1andm=2.

\




24. Expand 4m{2 - 3m - 6n)

Ans: 8m - 12m? - 24mn

25. Expand -8(5g - 2h)

Ans: 40g + 16h

26. Expand -9(p?- 7pq + 3¢%)

Ans: -9p? + 63pq - 27q*

27. Write down the expanded form of the expression :

Ans: -12m + 18n - 36h

28. Write down the expanded form of the expression:

Ans: 2a - [3ag

29. Write down the expanded form of the expression:

Ans: -y? +dxy -3y

30. Expand and simplify:

Ans: 45x +43

31, Expand and simplify:

Ans: 19y - 24

32. What is the simplest form of:

Ans: 16m - 14n

33. What is the simplest form of:

Ans: -y? -16y +17

-6(2m - 3n + 6h)

-a(2+3g)

iy -4x+3)

5(2x + 3} + M4 + 5x)

1@y -H+22-y)

8(3m - 2n) - 2(4m - n)

2y2-Sy +7) -3y +2y - 1)

34, What is the simplest form of:

Ans: -h?-4ht +7h + 12t - 4

35. Write in its simplest form;

Ans: mn

36. Write an expression for the area of a rectangte whose length is Sem more than its

width,

Ans: wiw+35)

Ans: 18x=32

38.
Sx+2

Ans: 0x2-2x

39. Expand and simplify:

Ans y*+ Ty + 10

40. Expand and simplify:

Ans: h2 + 12ht + 322

41. Expand and simplify:

h(3h - 4+ 7) - 42 - 3t + 1)

m(m - 2n+ 1) - (m?+ mmn + m)

Find, in its simplest form, an
expression for the area of the
shaded region.

Find, in its simplest form, an
expression for the area of the
shaded region.

+2)y+5)

(h+ 8} (h+ 41)

(3h+ 2)(5h +7)




Ans: 15h2+31h+ 14

42. Expand and simplify:

Ans: 21a2+ 17a+2

43, Expand and simplify:

Ans: 4a2+ 12a+9

44. Expand and simplify:

Ans: 4p? + 20hp + 25h?

45, Expand and simplify:

Ans: 16m?-24m+9

46. Expand and simplify:

Ans; 4x2 - 28xy + 49y?

47. What is the expansion oft

Ans: 4a%-1

48. Write down the expanded form of:

Ans: 16 - 49a2

49, Find the simplest expression equivalent to:

Ans:3a+ 1la+6

50. Find the simptest expression equivalent fo:

Ans: 9m? - 18m -3

51. Simplify (a+ 2y + Ga+ 1P

(Ta+ 1)(2 + 3a)

(2a+3)

(2p + 5hy?

(dm -3y

@x-Typ

(2a-1)(2a+ 1}

(4 -Ta)(d + Ta)

(a+3)a+ )+ Qa+ D3 +a)

(7m +3)(m - 2) + (2m - 1)(m - 3}

Ans: 1022+ 10a + 5

52. Simplify (h - 2)(+ 3}~ (h + 1)(h - 5)

Ans: 5h- I

53. Simplify 3t~ 7p- (t+5)2

Ans: 8t2- 52t +24

Find an expression, in simplest form,
for the area of the shaded
region,

Ans: 10x+2

55.

Write an expression, in simplest
form, for the area of the shaded
region.

ax-

Ans: 32+ 8

56. A cuboid has a width of w cm. Its length is 5 cm longer than its width.

a) Write an expression for its length in terms of w. Its height is 2 cm less than its
width.

b) Write an expression for its height in terms of w,

¢) Write an expression for ifs volume in terms of w.

d) Expand and simplify the expression for the volume.

Ans: (@) w+35; (b) w-2; () wliw+5){w-2); (d) w*+3w?-10w
57. Three consecutive numbers are x, x + 1 and x + 2. Write, in simplest form, an

expression for their product.

Ans : -,f+ax‘+2x
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Ans: x4+ 3x2+2x

58. Three consecutive even numbers are x - 2, x and x + 2. Write, in simplest form,

an expression for their product.

Ans: x® - 4x

59.

(x-1)em

(x+i)em

(xt3)cm

(a) Write an expression, in expanded,
simplest form, for the volume of the
cuboid.

{b) Use your answer to pari {a) to find
the volume for x=3,

(¢) Check your answer to part (b}
using another method.

Ans: () V=03 +3x2 - x - 3)em?; (b) 48cm®; () no answer given

X X
60. Simplify — +—
plity 5 7
Ans; 25
35

m m
61, Simplify — - —
P y3 7
Ansg: ﬂ
21

62. Simplify %“5 + 37"

Ans: 3x
14

3x+5 | 2xtl

63. Simplify
implify — 3

A, 195420
15
64. Simpify 2243 4 3;23
Ans- 6a+36
35

65. Simplify 3p-2  pHl
4 3

Ans: P19
12
66, Simplify 223 3""3—2
Ans: —4m—1
6

67. Simplify > + L
X X

Ans: 12
X

68. Simplify i—l-—z—
3x x

10
Ang; —
ix

3 1
69, Simplify —+—
Py 4x 2x
Ans: >
4x

—-to-




70. Simplify ——-=
Tx 3x

-5
Ans: —
21x

7 3
71. Simplify ———
P 0% Tsx

29
s —
10x

72, Simplify >
Tx

9x
Ans: 37
63x
4 6
73, Simplify —+——
P S e
2216
T (Bh=-2h-1
74. Simplify ——+—>
6p-7 3p+i
ns: __83p-51
6p-7)3p+1)
4 8
7S, Simplify ———
P y2p—3 p-1
e T12P420
Ep-3)p-1
5 2
76. Simplify —— ———
Pty h-5 5-h

7

Ans;
h-5
71 Simplify —— - —2--
(+2 2+t
Ans: g
t+2

78. Simplify 5—f;+}%

Ans: -1

4 3

79. Simplify +
Cx+D{x+3) (x+3)(x-1

10x-1
Anst ——mM ————
Cx+D(x+3)(x-1)

7

5
80. Simplif +
Y G2 h—3) " (h-3)2h+1)

" 38h-9
© (4h-2)(h-3)(2h+1)

3 B 2
(h=2)(h+2) (h+2)h-1)

81, Simplify

Ans: ol
T (h-2)h+2)(h-1)

82. Simplify 4 5

em-DEm+3)  Gm-DEn—1)

Ans: Zm-19
@2m-DEm+3)(3m—-1)

-2~




6 _ 4
(x+3)2x—1) (x+4)1-2x)

83. Simplify

. 10x+36
X+ DEx-1)

3

4
84, Simplif N
MY oarD) | 2atD(a+3)

10a+11
ng. ———————
(2a+1) (a+2)

s, 4
Za-Na+D (a+1)?

85, Simplify

13a-7
Ans: ——
(2a—-3)a+1)

A

3
86. Simplif -
PN a2y (a-3at2)

a—13

Ansg; ——
(a+2)"(a-3)

5 9x+21

4 -
87, Show that G- 2) + (x—2(x+4) - (x+ D(x-2)(x+4)

3 L4 26p-13
(p-Dp-3) @p-3¥ @p-3'(p-1

88. Show that

-3
89, Show that prl P

(P+9(p~-2) (p+)(p-3) (p+9(p-2)(p-3)

1 2 I 4x* ~5x—3
90. Prove that ¢ =
x+1 x-1 x-2 (x—D{x+1}x-2)

~i8-

2 3 8x+17

91. Prove that —— 42— >~ Sxt17
TOVeE S a1 T—x (x4 D(x-1)

A 3
92. Simplify if—zxi
a+3 a+2

Auns: 1

(a+1)a—-5) xﬁﬂ

93, Simplify w2 1
a a

Ans: a-5

o, simplity 2243 (p+7)(p—7)
(PGP (Gp-2)

Ans: PHIP-T)
(3p+2)

(x-7Cx+H  (1+3)

95. Simplif
TP a2+ D) (3428

Ans: _x-7
Ix-2

{(x=N(x+7) X(2+ xN2-x)

96, Sty =) (7 - 90+ 5)

Ans: 1

3a(a—2) , a(a+2)

97. Simphif ,
P At (aen@a+d

Ja(a+1)(a--2)
(a+2)

Ans:

(a+Na-3) X(a —5)a—-4) . (@a-3Na-5

98, Simplif
PR G a4 3a- a7

—d -




Ans: 7(61 +3(@-2)
(a-3)(3a-1
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